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SQL> create table a(bm char(4),mc varchar2(20)). Table created
SQL>insertintoavalues(" 1111’ , aaaa’ ).SQL>insertintoa
values" 1112 , aaaa’ ).SQL>insertintoavalues(" 1113’ |,

' aaaa’ ).SQL>insertintoavalues(" 1114 | aaaa’ ).SQL>
Insert into a Oselect * from a. 4 rows inserted SQL> commit. Commit
complete SQL> Oselect rowid,bm,mc from a. ROWID BM MC
AAAIRIAAQAAAAJQAAA 1111 aaaa AAAIRIAAQAAAAIQAAB
1112 aaaa AAAIRIAAQAAAAIJJAAC 1113 aaaa
AAAIRIAAQAAAAIGAAD 1114 aaaa AAAIRIAAQAAAAIJAAE
1111 aaaa AAAIRIAAQAAAAIJQAAF 1112 aaaa
AAAIRIAAQAAAAIGAAG 1113 aaaa AAAIRIAAQAAAAIQAAH
1114 aaaa 8 rows Oselected [J OO O O O 0 SQL> Oselect
rowid,bm,mc from a where a.rowid!=(0select max(rowid) fromab
where a.om=b.bm and a.mc=b.mc). ROWID BM MC

AAAIRIAAQAAAAJQAAA 1111 aaaa AAAIRIAAQAAAAIGAAB



1112 aaaa AAAIRIAAQAAAAIJJAAC 1113 aaaa
AAAIRIAAQAAAAIQAAD 1114aaaa 0 O O O O O SQL>
Odelete from a a where a.rowid!=(0select max(rowid) from a b where
a.om=b.bm and a.mc=b.mc). 00 OJ 400 00 OO . SQL> Oselect
rowid,bm,mc from a. ROWID BM MC -------=--=--=--o- ——--
-------------------- AAAIRIAAQAAAAIQAAE 1111 aaaa
AAAIRIAAQAAAAIQAAF 1112 aaaa AAAIRIAAQAAAAIGAAG
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O O O versiond O O OO SVRMGRL>startup oracle instance
started total system global area 222323980 bytes fixed size 70924
bytes variable size 78667776 bytes database buffers 143507456 bytes
redo buffers 77824 bytes ORA-00214: controlfile

* d:\oracle\oradata\orcl\controlOl.ctl’ version 57460 inconsistent
withfit100Test D D 0 D0 0O 0000000 OOOOOO
O 0O O www.100test.com



